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(Punjabi Version) |
32: ) wet @39-sdt @ ofles B '3 faw-d3/fud-ds @8 ¥d 1N
eHT-33/G-dF 06/A 7Fd &7 dJ |
(i) EFg-uzdt 82 I forr @ ¥F fare @ Sy 36 fa for feg TEHIeE RIJF 24 VB
I& W3 3ld gHE'T T3 |
Gii) §FT-vgd fEg y@t JE/UE BFE I ge I8 AT AC YHS/YHE €
IS 3d] dFT AT
- (iv) FTYHE ATN I3 |
(v) YAG U3T T 6 T - 6, %, 8 H, Tw3 & FHZ JI |
(vi) HBIoFT 3 §FT-Y3dt 35 35 a7 |

grar-8
1. wo-feamftyws . 12x1=12
G) Wo yew & gAwst faodt I 2
(8) T (n) féeg
(g) Us (A) I=3a

Gi) Suz-Ut HaEs JT 7 1 75 § et 32 3 It g fenrg e
15, 85 & ot faar 7w 3 7

(8) TIm-<Hl (nf) wigt &t TEI
() HBHG & 3T (A) 3

Gif) FefssT ye fed Wy 39 '3 faoar ufew wfent #ier 3 9
(8) Hedl\ (») BT
(8) & (R) Wt
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(iv) faR @R € AUTS ARG e ¢ gu fég et St d@a
IR MTHES THSI WTHES T |

(8) &3 (nf) feoumm
(8) 2FW w3 Hagdt (m) feg w3
v) yF fenadt nmies & e F9s B TouE °F |
@) JHII MTHES
yFt fonadt mies
(1) JHSH MHTS
Tt
(%) nrgTdt
yFt foradt nrHes
TS
(W)
dHIIT MTHES
(vi) “‘Yu3ag Hafunr wage”’ I< g Jfemr ?
(8) 1987 €t () 1997 #.
(g) 1957 €. (A) 2017 ¥t
(vii) Sfent fammR w3 Sfon A3w © fegd Afes enve & faar
Ter J |
(8) T I (nf) oM™ IH
(8) oo™ g0 (W) e»me fans
wiii) T3 8y wRa f&g farer ufas W feaH ¥& HY 2
(8) ¥Hd (nf) fegarfow Bdt
() frdeg 3dt (r) fegat feg aft &t
(x) foo3 a9 # & d9 feu o wicw &t Grrdt ag=et #t ?
(8) g wiare =< i (™) TG MHIER Ht
(g) I IHEH Hl () d1d »Ias &< Hl
(x) HHS wadt €% €t AEE feg I |
(8) 1910 €. (™) 1915 #.
() 1920 #. (A) 1925 ¥,
(xi)%%ﬁﬁﬁmﬁﬁamwmﬁ?
(8) #&3T ugdt (») feSras SHES IT9H
(g) a3t 7537 uat (7) ot afulfare uract
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(xii) »e W2 fsauy 97 q9els st 3= filled 3 2

(®) yus 3 () F= afiEs
(8) THeaudt (H) HR<
- |
2. IAIGHE YA - ' 12x1=12

@) 393 < gaifea feemer <t Mger ydudt S5t 3 9
(i) OIS yge3 Bt = wrarg ot F 2

(i) IUT & =I3 fag It T 2

(iv) faem & ufagfag 33 |

(v) feeft afgzr 3 dftge 39

(vi) faw féa ot ovft wurg = s 97 2

(vii) UF™E § U fam a5 ¥ fagr aier ot 2

(viii)) HIEY dS HE ?

(ix) BIF Y& § ufggaz a9 |

(x) 93 &9 fd& I29 HHI Y7 T3 ?
(xi) BA-MER3 TH I ITIftFE T ?
(xii) HY W3t &t famadt as ager T 2

gI-¥
fer 3ma1 fS9 8 Qu-9a1 (YHa) I8 | I3 YHs < €739 Sa8qr 30 - 50 wuot fog
feG | 8x3=24
(i) g9 Hges §73 fEa garfea &e 8y |
(i) Aot fegtan fag nrat &t €9 wezr @ ft 335 T3 2
(ili) 3793 it WY Heg™ ARE faad T3 2
(iv) I931 niufeery &9 udtadt @ HI3< ©F T9S6 9 |
(v) Jd &84 92 Al & e Hes Adtes &9 fags a3 »use /5 2
(vi) SHdg ATy & B3 '3 f¥a & oy |
(vii) AHE <€ fedu wifuag o <35 99 |
(viil) UoHI® © Wy fAg3™ T <935 ad |
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F-H
4 fom g 9 8 Qu-3a1 (Yy&) T5 | faR & ¢4 yrat @ €*39 wawar 80 - 100 AEe'
fég fob . _ 4x4=16
@ FIFt 9Ft § Toun mfie w9 femers f&e & |
(i) 393 &9 qu &t vt g9 for |
i) 393 &9 BW »3 A Gedar 3 o7 &t 3= I 2 Gyt Fif mfrreT
IS IJ |
(iv) @3 Oe@ar &t 9ft w9 ga9T g |
(v) Ue {39 H3333" »idws fég »irdh ey & ft Garers Ht 2
(vi) UM H'J WTE T TITH J9 |
(vii) I3t HAe &9 foq fis fag 268 e 7o 3 2
(viil) THSIUS I Haeasls Aadt &t fenrfimr 33 |

F9-T

5. HJ3 mufd3 yas 4+4=8

(8) feg feSft 42 wusa sgadt wanudt © =0 feu ga=e &t aff g wd

Quasft ot § we aas W3 foraa famnw St fardnit 2@ & &

Wﬁﬁﬁ%lmﬁmmémlmmﬁﬂ%}

© 8 A3 &9 @8 7 I3 few § ‘dors <t =fowz’ € 39 3 afenr ge

3 | fer 397 ‘BaeaT st e 3 8n It gt -gdht gavarat w3 qead

Aors feg 3t 38 88 q »ue yge AW oo I | usEEhvH wg 7

FagR W 3 & 58 W wiew B 3T & o a8 Heuz wEa,

A w3 gut @ Jar fem ot T 3T T | 79T TW T wiafdx feaw w3

TILE HIBE 9 I A wEt fou wg3 f 7 T wer 3 fa O w2

ﬁzaa%@ﬁﬁw'méﬁﬁ%|ﬁme‘tzg*5%§3ﬁ€?mé‘ﬁffﬁ3

ae ot 393 ¥ I8 4IIeB T 7413?&5‘&%»{3%#@2-7%%%33

I | I T '3 @ Aaw S fmrer WIS fRE (59-6%) w3 foes @R

(48-1%) fe9 fHadt 9 7€ fa e (2:3%) W3 THAHES (3-6%) =991 I fg

15% 3 @ wWe It 7a8T I »@E I | 999 WH3 YRR »fts, w9 3 Iu

JIE (94-6%) MBS W3 fadarg aynft &9 w3 w3 3 We (1% it fg
HasT J5 J |
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06/A-X

wﬁgﬁﬁﬁa%fﬂﬁqﬂﬁéhm:

() far 0 & ‘dors o wda’ fagr Awr ¥ 2

(i) At AT '3 JoR wo ° ot yg= I8 ?

(i) 993 2 5 s Qa9 Ao mE 9A N T6 7

(iv) =&t ¥ gt B39 T fdar ydme i Aot 578 Sfemtr Ifenm 3 2

HITTWT JHI3 fiw o oW 13 5<8d, 1780 ¥, § Hag9dmT fms @
hﬁmmlmwﬂaﬁwé?@?ﬁwmﬁsmg
89 magddt fims @ o7&t HE | W9 g3 fitw & w3 T AW I
ﬁmimmmamwmﬁmmw
g fitw &t wowEer f&9 A | R sets fifw ¥ ugtdt e ad
fesamft & feust | e = woow g3 fiw »isug & fogr | HoawT
gz fitw 3 weus f&g & W et w3 mrR3g fefonr iy ot | oW
et & Qwa &g 8 B wyd fuzr o sa fee e 837 | &8¢t Ona fes
f Hoan I3 fitw 3wt fims & neeret it | gIuE few Sea &
faurdt aras 993 3 @@ U o w3 93 wiy mawdt adt | fusr & H3 i
S 23 I a5 I & TAET AT 49, IW I3 W3 dTs BHy3 e €
Jat fég aft | Jefis fiw & Imft 35 3 17 w8 & G988 JwIw
fiyfgnr | HTgwT a3 fiw & wrudt g9 fewdt a8 »ue 9w & fered
3 | O B w3 At e BE w3 A3 g S 1 v
g3 fifw 5 ot foug 13 | Br € 75 U39 @ a1 ¥3a fRw Wt | 913
fw &t 7z fifg 6F @ 39 391 & BW € TN & & HIfewr | fAe =
WaTd JaH3 J§ J'9 T |

§yg 3 13 & ug 3 I3 faw yme @ §739 fau .

() W a3 fAw € fugm e & ot Ht 2

(i) Haguan fms o gt aS H ?

Gii) T g3 fiw 3 Wedt fefenr fag Y3 it 2

(iv) HIaH g3 fitw 3 fam Gvg feg o Aerfen Hi ?
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yv-u
6 (8) #33 aam R It g7 nus fawG . dx1nd

)x-‘#ﬂwnwdi

Gi) '8 W

() "I3 fimime @@y @3 939

;uﬂ'meﬂﬁ?we*aﬁfﬁaﬂaa

(v) a9 83 @ G3ues o 3t f¥x g39

(it W3 3 TU v T I

() <3 3 ufos™ @ Uame @ man &9 3t a9 mas fourg - dx1=4
@ nEeud \Afoy
4G B
(i) ITCH JIB
(iv) Aafde
(v) RIE
(Vi) dIHd™3

(Hindi Version)

FIZ: (i) YA IN-YRAF F T GF W [T97-F2/90-F1E aT G H [a8T-H13/ 990 -1

06/A 37av 7@ |

i) IW-YiETHT & & $5% 98 e 7@ & 1% 399 5@ 98 87 24 78 8 09 qE #
78/

(iii) IT-giaH § @Ichl 918 T 98/981 % wWEd A [T 0 977/97H] F1 GediHT T
fFar 13T |

(iv) WWW?!

(v) mﬁﬁsm—a&;azma,sfaﬁra?ﬁ/

(vi) HAEET &1 I-GIGTH & e Tee] FT |

{1
1. mm 12x1=12
(1) mmﬁmﬁqﬁ%?
(%) Tt (@) &N
(M) WT9Te (9) vafera
(i) Zlamafradl grEgd gand s 1 93 & 9fvedl a2 @ arl gl ard &, @0 wEard @ o
()  GEHA F Tl (|) 9
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(iii) AeTFEEN @Ml 4 YA ¥4 ¥ FH-61 @iAs 97 Ivan & 2

(%) W (@) e
(M) (w) W (3137)
iiv]?méﬂ%mmﬁmﬁﬁm ¥ w1 ¥ ffa yg s 3™ T
l .
(%) <™ (@) =
(M) M R (@) 3% @f
(v) fd safeh s 1 o 1 g A |
TgE 31g
i rp—
(@) ™
]
m e
giq safw 3=
(%)
gy oy
(vi) “IaveR! Tl Afufam” e ] 83 2
(%) 1987%. (@) 19973%.
()  19575. (1) 2017%.
(vii) =@ T4 3 gaed 781 & sa fea geie & FaT A 2 |
(%) QA" T . (@) <E =+
(M) gl 9l (a) e fawa
(viii) Frrfafaa ot # € foraen vgan AW H9m @m o 2
COMILL (W) wfen cite
(m) fope @ (9) 39 H ° Fi TR
(ix) TR # fopm e St A araeh wife w1 R wEm o
(%) 7% 3TE ¢d S (@) & I g
(M) T® U9 gE Sft (9) TE 3 &a St
(x) formfor syereht < ht TATIAT Hgsfl |
(F) 19103%. (@) 1915%.
(M)  19203. (1) 1925%.
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(xi) Fr=ferfem d @ $F. vw aftg i za R 7

(®) w qrd (@) wreftg T sl
(M) WA s (w) v wegfae 9
(xii) ¥aq IR Frsue g ) & fou 9 fidan R 9
(%) wuR wh (@) T
(M) sgafa (9) HaE
-
?mﬁﬂ%QSH?Q:

) W & Wi R w1 adwm et s R 2

(i) femrerr vda g@en w1 R fran 2 2

(iii) IR & FI1 IGG § ?

(iv) Few =t sfonfyg Hifte |

(V) ﬁivﬁmmﬁwmﬁ%?

(vi) foet o vt gfy guw &1 aw Ty |

(vii) 9SITE ! fhe et § g F&1 S o1 2

(viii) 8%g H1F 4 ?

(ix) TR g7 S gieiya FHifon |

(x) WRa ¥ foer s wiidd wew & ?

(xi) T ATl | T T THIAA 2 ?

(xii) T g3t Y Fgfes 1 Fa g 2
-

7q 9T 3 8 39N (W) & | ek W 1 I A 30 - 50 wegl # i -

@) UR ¥ qeee W U siifas feuft fafa |

Gi) el el B SHEEd % I g & 91 FR0 R ?
(iii) WRd % yq@ AfEE T FHA ? ?

Gv) W arferaryn § $ F HEE H U FHIfC |

(v) gsméasﬂﬁﬂﬁmﬁmeﬁaqﬁmmﬁﬁm?

(vi) SHER aifEE % 3¢ W feoroft fofay |
(vil) W%ﬁﬁﬂfﬁﬂﬂﬂ“ﬁ%l

12x1=12

8x3=24
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(@) wersT Wit fg @1 9= 13 T4, 1730?-%@%1%%%%

RS SRR R SR T e ——— -
el e & deams 9 | e Wish fig € w1 AW T PR
q1 Immﬁzﬁmﬁmm%mmﬁq@m
g <t etemen & S T o | wgl Wi fig Y el # w1 Reweh T
feamé | aRtomreEw, wETEn W fig g @ o | weroe W e 3
T H gSHart 3% v fren wvw ot oft | 2w e € 3w §, 98 9 R
% WY g ¥ W & v | w9 3w ¥ weRmen vl g 3 art firea A
FAH WA Tl | 9§ I 3 3 AR o) ik o e A
g &R | o R i gy ¥ W, I 9 3w Fow, TR
TSR WY BN, T FR 3N 2 orawa @ & g 4 @ | el g B
TS 9/ 17 71 0 35§ 74 e o1 | g wila fig ¥ A
TERIT & 3t Tva # Rram e | 3R 9% wersat @id ok o |
HErS st fig 3 & wifeat & | o9 vt @@ %1 T o e o |
o e g F 9., I swoiemhE 3 3% 0w A e |
HoTed®Y, U & qUiord & |

IR IedT @ dgeRt Frfafias Wl & I A -

(i) WRTUST Wi g & fdr &1 &= 9 or 2

(ii) IpFalhal TUET & EATYH B 9 2

(iii) TR Wit g 3 7ot yrfes foen w8 ¥ g 6 2
(v) WERT Wi i X fre 3w o vog W streR v R a1 0

qr-d

6. (%) Yrw ¥ uHfaA § gl o TaHl I 9iE0

06/A-X

() FAFAA

(11) YIcf "I

(i) gq Ao 6l el &

(iv) 7§ I F B T &

(v) ig-3rh I Fl B T &
(vi) Ha8 e HEE aer T

4dx1=4
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4. WM A 8 Iy (W) B | fFdl 4 Wt & I @™ 80 - 100 wedt # AR : dxdais
(i) YR FN F T 3 Al gwenet w1 fawm @ aviv Fifw |
(i) WTE ¥ Frm 6 @dt & "1 #@ fafee |
(i) WA ¥ Y T3 FER IAN ¥ A9 o1 U & 7 IR FHAN 18 7
(iv) &3 M & I & Rew™ & ==t i |
(v) 99TE ® WEaFdT e ® I GH H 1 IEH 97 2
(vi) SHIHTTRY HRE "1 1 9o Hifdu |
(vil) T gae o s favas a4 afufe =73 S g 2
(viii) Tsgufd Y sramasTeda wfwl $ smen Hifv |

-5
5. Qra-3myTia a9 4+4=8

(%) 3 foosht i 3 7 Faw iy v areafadl & fawm d Sl @
afcss Iwah suft i i ai s dmidl $ e & Fro gaE
afed &1 @ 3 | o et 8 Joedt F 0 F ber F e i @
BT TWTE % SR 3§ SIS F AEE & €Y o AA A6 2 | FH q@E,
Gerr A F D1 W F WA TOTE AR WHfoew e § a9 H He w
3 3 THY T YW el £ | qifEm a S ar oft @ 3 af @
et T 2, P gt wrey eyl e, e I R vERd e
5 wrll gfg @1 W 2 1 v 3 fo 7@ g9 e @ 9 R T IEn
F08.F0 33% Y IE i faeem ot whtfeufes dgen & foag o0 2
sresTia 71 | fava 1 20-5% yft o @ Frewifed B, FalE 741 ARG AR
mm%@daﬁmmm-?%ﬂmaﬁ%mﬂ?%tmmmﬁfr,
sfreier 39 &9 BgU (59-6%) 3 fewrae weu 48:1%) A qIu STd 3, FE(h
dfrrraiz-a%)aﬂiwma-e%y?{ﬁrmﬁﬁ15%ﬁa;qtﬂﬁa=ﬁﬁmﬁa
%lﬁﬁﬂﬁﬂﬂ&:?%ﬁ,ﬁ@ﬂﬁnﬁaﬁwmﬁmm
(94-6%) & F1 & 3 8 3K a8 FH (2:1%) feeeht 1 R |
(i) frg W8 1 A H1 AR HEl A 2
(ii) mmmmﬁwmwmq@m%?
(iii) T 1 o ST el @ & JFreeied @ ?
Gv) forva ¥ forad wiaw T W B ?

9
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(@) Fred & v & g & wrafe o fll wie el ®) aniy, dx1nd
(1) AR HifRy
W) ards
(i) e T
uv)  Wwe
(v) e
(vi) TSI
(English Version)
Note: (1) You must write the subject-code/paper-code 06/A in the box provided on the

title page of your answer-book.

(11)  Make sure that the answer-book contains 24 pages (including title page) and

are properly serialled as soon as you receive it.

(it1) Question/s attempted after leaving blank page/s in the answer-book would not

be evaluated.

(tv) All questions are compulsory.
(v)  The question paper will have 6 sections - A, B, C, D, E and F.

(vi) Attach the maps with the answer-book.

Section-A
1.  Multiple Choice Questions : I2%x1=12
(i)  Which is the capital of Madhya Pradesh ?
(a) Ranchi (b) Indore
(¢c) Bhopal (d) Gwalior
(ii) What is it called when southwest monsoon winds bring heavy rains to the
western coast on 15 of June ? https://www.punjabboardonline.com
(a) Norwester (b) Mango Showers
(¢) Monsoon Burst (d) Loo
(iii) Which mineral is mainly found in Bailadila mines ?
(a) Manganese (b) Iron
(¢) Coal (d) Mica

(1v)

06/A-X

National Income is the net factor income earned by normal residents of a

country in the form of .
(a) Profit | (b) Interest
(d) All of the above

11
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(v)

(vi)

Give the formula to calculate Per Capita Income .

National Income

(a)
2 Per Capita Income

(b) __National Income
Population

Population
Per Capita Income

(c)

Population
National Income

(d)

When did the “Consumer Protection Act” come into force ?
(a) 1987 A.D. (b) 1997 AD
(c) 1957 AD. (d) 2017 A.D.

(vii)) The Doab which lies between the river Beas and the river Satluj is calle

(a) Doab Rachna (b) Doab Chaj
(c) Doab Ban (d) Doab Bist

(vi1) Among the following rulers, whose first name was Nizam Khan ?

(ix)

(x)

(x1)

(xi1)

06/A-X

(a) Babur (b) Ibrahim Lodhi

(¢) Sikander Lodhi (d) None of the above

Which Guru Ji constructed Baoli Sahib at Lahore ?

(a) Guru Angad Dev ji (b) Guru Amar Das Ji

(¢) Guru Ram Das Ji (d) Guru Arjan Dev Ji
Shiromani Akali Dal was founded in

(a) 1910 A.D. (b) 1915 A.D.

(¢) 1920 A.D. (d) 1925 A.D.

Which of the following is a regional political party ?

(a) Janata Party (b) Indian National Congress
(¢) Bharatiya Janata Party (d) Communist Party of India

Who is responsible for conducting free and fair elections ?
(a) Prime Minister (b) Eleotion Commission

(¢c) President (d) Parliament

12
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Section-B
2. Objective Questions -

_ 12x1=12
(1)

What is the present administrative division of geographical set-up of India ?
(n)  What is the size of the Himalayan mountain range ?
(111) What are the uses of Copper ?

(1v)  Define investment.

(v) What is meant by foreign aid ?

(vi) Name any one Indian land reform.

{vi1) In which period was Punjab called Panchnada ?
(viil) Who were the Sayyids ?

(ix) Define Langar System.

(x) How many Union Territories are there in India ?

(x1) What do you understand by Lok Adalats ?
(xi1)) Who appoints the Chief Minister ?

Section-C
3. This section has 8 sub-sections (questions). Answer each question in about

30 - 50 words : 8x3=24
(i) Write a geographical note on the Thar Desert.

(ii) What are the causes of high density of population in the plains ?

(iii) What are the main monetary institutions of India 7

(iv) Describe the importance of agriculture in the Indian economy.

(v) What professions did Guru Nanak Dev Ji adopt in his early life ?

(vi) Write a note on the Battle of Chamkaur Sahib.

(vii) Describe Right against Exploitation.

(viii) Describe the main principles of Panchsheel.

Section-D

4, This section has 8 sub-sections (questions). Answer any 4 questions in about

=]6
80 — 100 words : dxd=1
(i) Explain in detail the problems being faced by Indian Agriculture.
(ii) Write about the cultivation of cotton in India.
13 [Turn over
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(i1i) What do you mean by Small Scale and
their problems ?

(iv) Discuss the importance of Large Scale Industries.

(v) What th ibuti v s |
Pl abv;as e contribution of Arya Samaj in the Freedom Movement in

(vi) Describe the Komagata Maru Incident.

(vii) How does a Bill become an Act in the Indian Parliament ?

(vii1) Explain the Emergency Powers of the President.

Section-E

5. Source-based Questions : 4+4-8

(a) These foreign species (plants) not only hampered the growth of local
vegetation but also reduced the useful lands and they are also proving
harmful for spreading diseases. Due to their harmful effects only, Water
Hyacinth plant spreads into the water sources and is known as the ‘Terror
of Bengal. Similarly, Lantana plant has quickly covered and deeply
influenced the green pastures and natural forests of the country.
Parthenium or Congress Grass has also spread widely in the country and
has increased the incidence of diseases like allergies, skin diseases and
breathing problems. For economic development and ecological balance it is

essential for every country that at least 33% of its land is covered with
forests. In the world, 29-5% of the total land is covered with forests, whereas

in India onlv 741 million hectares or 22-7% of the total area is under forests.
At State level also, high proportion of forest area is found in Tripura (59-6%)
and Himachal Pradesh (48-1%), whereas less than 15% of land is under
forests in States like Punjab (2:3%) and Rajasthan (3-6%). Under Union
Territories, highest area (94.6%) under forests is Andaman and Nicobar

Islands and lowest (2-1%) in Delhi.
Read the above paragraph and answer the following questions :

(i)  Which plant is called the ‘Terror of Bengal'?

(ii) What are the effects of Congress Grass on our health ?

(iiiy What percentage of India’s area is covered by forests ?
What percentage of the world’s land area is covered by forests ?

14 [Turm over
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(b) Mﬂhara.!'a Ranjit Singh was born on 13 November, 1780 AD at the house of

:ﬂlame was Sardar Charat Singh. He was the founder of Shukrachakiya Misl.

_aharaga Ranjit Singh’s mother’s name was Raj Kaur. Maharaja Ranjit
Singh was sent to Bhaj Bhagu Singh’s Dharamshala at Gujranwala for his
early education. Here, Ranjit Singh showed no interest in studies. As a
result, Maharaja Ranjit Singh remained illiterate. Maharaja Ranjit Singh
lea.f'r:{ed horse riding and arms training in his childhood. At the age of ten
he joined his father in battle. Maharaja Ranjit Singh led his Misl at an earl_w,:
age. Smallpox in childhood left scars on his face and damaged one eye. After
T.he death of his father, due to his young age, the reins of the State remained
in the hands of Sada Kaur, Raj Kaur and Diwan Lakhpat Rai. Ranjit Singh
ft:\:rmally got the State at the age of 17. Maharaja Ranjit Singh expanded his
hngdnm with his foresight. He fought many battles and won. Maharaja
Ranjit Singh married many times. His first son was named Kharak Singh.
After the death of Ranjit Singh, his heirs did not take over his kingdom. As
a result, they were defeated by British.

Read the above paragraph and write the answers of the following questions :
(1) What was the name of Maharaja Ranjit Singh’s father ?

(1)  Who was founder of Shukarchakiya Misl ?

(1) Where did Maharaja Ranjit Singh get his early education ?

(iv) At what age did Maharaja Ranjit Singh take over the State ?

Section-F
6. (a) Show any four places on the map of India : 4 x]1=4
(i)  Kanyakumari
(11) Thal Ghat
(iii) Region of very high rainfall
(iv)  Any one area of wheat production
(v)  Any one area of iron-ore production

(vi) The most populous State

(b) Show any four places on the map of Punjab before partition : dx1=4
(i)  Anandpur Sahib
(11) Nadaun

(i1i) Gurdas Nangal
(iv) Sirhind

(v)  Sabraon

(vi) Gujarat
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